
 

 

Bài 2 trang 13 Tập bản đồ Địa lí 10 

Đề bài: 

Đánh dấu X vào ô trống ý em cho là đúng trong sơ đồ sau: 

... Phong hóa ---> Vận chuyển ---> Bồi tụ ---> Bóc mòn 

... Phong hóa ---> Bóc mòn ---> Vận chuyển ---> Bồi tụ 

... Bóc mòn ---> Bồi tụ ---> Vận chuyển ---> Phong hóa 

... Bóc mòn ---> Vận chuyển ---> Bồi tụ ---> Phong hóa 

Trả lời: 

 
Phong hóa ---> Vận chuyển ---> Bồi tụ ---> Bóc mòn 

X Phong hóa ---> Bóc mòn ---> Vận chuyển ---> Bồi tụ 

 
Bóc mòn ---> Bồi tụ ---> Vận chuyển ---> Phong hóa 

 
Bóc mòn ---> Vận chuyển ---> Bồi tụ ---> Phong hóa 
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